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Use the distributive property to solve each problem.
Ex) 8 × 13 = (8 × 5) + ( 8 × 8 )

=
10440 + 64

1) 18 × 6 = (8 × 6) + ( 10 × 6 )
=

10848 + 60

2) 4 × 16 = (4 × 7) + ( 4 × 9 )
=

6428 + 36

3) 3 × 14 = (3 × 7) + ( 3 × 7 )
=

4221 + 21

4) 17 × 9 = (9 × 9) + ( 8 × 9 )
=

15381 + 72

5) 17 × 8 = (7 × 8) + ( 10 × 8 )
=

13656 + 80

6) 18 × 9 = (8 × 9) + ( 10 × 9 )
=

16272 + 90

7) 12 × 5 = (8 × 5) + ( 4 × 5 )
=

6040 + 20

8) 5 × 14 = (5 × 7) + ( 5 × 7 )
=

7035 + 35

9) 6 × 16 = (6 × 9) + ( 6 × 7 )
=

9654 + 42

10) 16 × 8 = (6 × 8) + ( 10 × 8 )
=

12848 + 80

Answers

Ex. 104

1. 108

2. 64

3. 42

4. 153

5. 136

6. 162

7. 60

8. 70

9. 96

10. 128
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Use the distributive property to solve each problem.
Ex) 8 × 13 = (8 × 5) + ( 8 × 8 )

=
10440 + 64

1) 18 × 6 = (8 × 6) + ( 10 × 6 )
=

10848 + 60

2) 4 × 16 = (4 × 7) + ( 4 × 9 )
=

6428 + 36

3) 3 × 14 = (3 × 7) + ( 3 × 7 )
=

4221 + 21

4) 17 × 9 = (9 × 9) + ( 8 × 9 )
=

15381 + 72

5) 17 × 8 = (7 × 8) + ( 10 × 8 )
=

13656 + 80

6) 18 × 9 = (8 × 9) + ( 10 × 9 )
=

16272 + 90

7) 12 × 5 = (8 × 5) + ( 4 × 5 )
=

6040 + 20

8) 5 × 14 = (5 × 7) + ( 5 × 7 )
=

7035 + 35

9) 6 × 16 = (6 × 9) + ( 6 × 7 )
=

9654 + 42

10) 16 × 8 = (6 × 8) + ( 10 × 8 )
=

12848 + 80
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